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(3) | whot mass af adtric acid @n be prdord flom Lioone of
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ewith sodiom

TiClg + 4No — Ti + 4NaCl
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bd23-E A7 fz%_’ X4 = O-83 moles of Na
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2-(‘73 of aluminiom chloride was dissoled in water ard an €xces S
of Silver nitmke solution was adld to give a reciptate ol si\ver
chloride :

A(Cl3c‘;@ + SASI\D-S (aqy > AL(NOQTﬂ + BAJCLﬁ)
twhat mess of Sher chloride precipiate would be forme ?
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Caltiom hn()ﬁ’\cidt i thanufactured. bd hea{-ir:j Calcivm Corborate
ﬁr’”ﬂ“{] +o frof}uce. altiom o»xic]cs_ anth theo add&g a contolled. amartt
OL water to Ffﬂdm ceeleivn hgdf‘ox-{o(g :

Ca®y = Ca0 + (0,

Ca0 + H,0 — CaloH)2

0) what miss of water woutd you need 4o add to calciom oxide 4
fodiceh Llonne of  colcium corbonsike?

b) what Mass’ of calciom l(\ldamécia.c WOUlA Uau%ul‘l-‘tm‘l'ela f/cJUCe
fom | Mtme tonne of Caltcom Car)oana-(e?
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